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1) The Maastricht Treaty

a) Also known as Treaty on the Functioning of the EU (TFEU), entered into force in 1993
b) Also known as Treaty on European Union (TEU), entered into force 1993
c) Also known as Treaty on the Functioning of the EU (TFEU), entered into force 2009

2) The European Parliament represents the interests of

a) governments of Member States
b) EU citizens
c) the European Union

3) EU Monetary policy for the Member States using the euro

a) has progressively lost its importance within the European Union
b) isan exclusive competence of the EU
c) isnot among the powers of the Union

4) Private law is characteristic by the following creatures

a) extensive application of default rules
b) the exclusive application of mandatory rules
c) the status of legal entities is uneven

5) Under the public law does not belong

a) criminal and financial law
b) constitutional law
c) labour law

6) The Constitution of the Czech Republic entered into effect

a) on 16 December 1992
b) on 1January 1993
c¢) on1January 1990

7) The Senate is made up of

a) 200 Deputies, who are elected to a four-year term of office
b) 81 Senators, who are elected to a six-year term of office
c) 81 Senators, who are elected to a four-year term of office

8) For a resolution to be adopted

a) majority of the Deputies or Senators present is required, unless the constitution states otherwise
b) majority of the Deputies or Senators present is always required
c) one-third of the Deputies or Senators present is required, unless the constitution states otherwise

9) Right to strike

a) does not apply to certain professions (e.g. judges, public prosecutors, or members of the armed forces and
security corps)

b) applies to certain professions (e.g. judges, public prosecutors, or members of the armed forces and security
corps)

c) innot stipulated in the Charter of Fundamental Rights and Freedoms

10) The Council of Europe

a) s aninstitution of the EU
b) isan international organisation made up of 47 states
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c) isseated in Brussels
11) Generally binding decrees and regulations of municipalities

a) are announced in the Regional/District Journal of Statutes.

b) are announced by being put on the official notice board and, at the same time, on the electronic official notice
board

c) are announced in the Collection of Laws

12) Corporations can be divided

a) commercial companies (partnerships and capital companies), cooperatives, associations
b) commercial companies (partnerships and capital companies), cooperatives, endowed institutions
c¢) commercial companies (partnerships and capital companies), cooperatives, institutions

13) An objective time limit for the statute of limitations is usually

a) threeyears
b) tenyears
c) fifteen years

14) Real burdens

a) means that the entitled person must therefore carry out a certain activity to the benefit of the obliged person
b) can never be encumbered to a thing which is registered in a public list
a) means that the obliged person must therefore carry out a certain activity to the benefit of the entitled person

15) The constitutional basis of substantive and procedural criminal law is stipulated

a) inthe Criminal Code
b) inthe Code of Criminal Procedure
c) inthe Constitution and the Charter of Fundamental Rights and Freedoms

16) Criminal penalties

a) areimposed by police officers right after an offence was committed
b) are also imposed for the commission of a legal criminal offence
c) areimposed for the commission of a criminal offence

17) Practice of unfair games and wagers

a) belongs under property crimes
b) belongs under economic crimes
c) isnotacrime asitis not stated in the special part of the Criminal Code

18) An employer may be

a) alegal person
b) a natural person
c) both legal and natural person

19) Under the agreement to perform a job it is not possible to carry out work in excess

a) of one third the standard weekly working hours
b) of one half the standard weekly working hour
c) of the standard weekly working hour

20) The holiday in employment relationship is at least

a) 3 weeks per calendar year
b) 4 weeks per calendar year
c) 5 weeks per calendar year



